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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-2 / HALF YEARLY EXAMINATION 

SESSION: 2023 – 2024 

 

Class: VII                                             Maximum Marks: 80 

Subject: English                                                                          Time: 3 Hours 

  General Instructions: 

• This question paper consists of 4 pages. 

• There are 16 questions in the question paper. All questions are compulsory. 

• Question number 4 and 5 has internal choices. Attempt any one from each question. 

• Number your answers correctly. 

 SECTION-A: READING SKILL (20 MARKS)  

1. Read the following passage carefully and answer the questions that follow:  

 In a distant land, a mystical forest, known as the Enchanted Grove was rumoured to possess 

magical creatures and hidden treasures. A group of adventurous friends, Alex, Maya, and 

Liam, decided to explore the forest's secrets during their summer break. 
 

As they ventured deeper into the forest, they encountered a talking squirrel named 

Squeaky. Squeaky revealed that the forest's magic was fading, and they needed to retrieve 

the Crystal of Whispers to restore it. The Crystal was guarded by the fearsome Guardian 

of Shadows, a creature of darkness. 

The friends faced numerous challenges on their quest. They crossed treacherous rivers, 

navigated through foggy meadows, and deciphered cryptic riddles. Along the way, they 

formed an unbreakable bond and discovered the true essence of teamwork. 

When they finally confronted the Guardian of Shadows, it tested their courage and 

determination. Through quick thinking and co-operation, they managed to outwit the 

Guardian and retrieve the Crystal of Whispers. The forest's magic was restored, and 

Squeaky thanked them for their bravery. 

As the friends returned home, they carried the memories of their incredible adventure. The 

Enchanted Grove, once shrouded in mystery, had become a testament to their friendship 

and the power of working together. 

 

a. What did the Enchanted Grove contain? (1) 

b.  What did Squeaky reveal about the forest's magic? (1) 

c. How did Alex, Maya, and Liam manage to outwit the Guardian of Shadows? (1) 

d.  What significant thing did the friends retrieve to restore the forest's magic? (1) 

e.  Find words in the passage which mean the following: 

i. evidence of a specific fact / event             ii. unbelievable 

(1+1) 

f. What challenges did the friends face during their quest? (2) 

g. What did the friends learn from their adventure? (2) 

2. Read the poem carefully and answer the following questions:  

 

 

A bird came down the walk: 

He did not know I saw; 

He bit an angle-worm in halves 

And ate the fellow, raw. 
 

And then he drank a dew 

From a convenient grass, 

And then hopped sidewise to the wall 
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To let a beetle pass. 
 

He glanced with rapid eyes 

That hurried all abroad, — 

They looked like frightened beads, I thought; 

He stirred his velvet head 
 

Like one in danger; cautious, 

I offered him a crumb, 

And he unrolled his feathers 

And rowed him softer home 
 

Than oars divide the ocean, 

Too silver for a seam, 

Or butterflies, off banks of noon, 

Leap, plashless, as they swim. 

a. Who is referred to as ‘fellow’ in the first stanza of the poem? (1) 

b. What did the bird drink? (1) 

c. How did the bird respond when the speaker offered a crumb? (1) 

d. Which poetic device is used in the line “They looked like frightened beads”? (1) 

e. Which word in the poem means ‘very careful’? (1) 

3. Read the passage given below and answer the following questions:  

 The Great Barrier Reef is the world's largest coral reef system, located off the coast of 

Queensland, Australia. It stretches over 2,300 kilometers (1,430 miles) and is composed 

of thousands of individual reefs and islands. The reef is renowned for its stunning 

biodiversity and for housing a vast array of marine life including various species of coral, 

fish, sharks, turtles, and mollusks. 

The Great Barrier Reef is not only a natural wonder, but also a vital ecosystem that supports 

both marine life and local economies through tourism and fishing. However, it has faced 

numerous challenges in recent years, such as coral bleaching caused by rising sea 

temperatures and ocean acidification. Conservation efforts have been implemented to 

protect and preserve this unique and fragile ecosystem for future generations. 

 

a. What is the main attraction of the Great Barrier Reef? (1) 

b. Name some of the marine life species found in the Great Barrier Reef. (1) 

c How do rising sea temperatures affect the Great Barrier, Reef? (1) 

d. Besides its ecological significance, how does the Great Barrier Reef impact local 

economies? 

(1) 

e. Find out an adjective from the text which means -‘extremely impressive or attractive’ (1) 

 SECTION B: WRITING SKILL (16)  

4. Write a profile of Mr. Anand Kumar based on the given clues: 

Age: 48 

Profession: Teacher 

Working place: Gandhi High School, Sirsi 

Physique: Tall, strong 

Family: Nuclear –wife, a son and a daughter- both school going 

Hobbies: Swimming, reading novels, stamp collection 

Reason for popularity: Never angry with students, lenient, hard worker 

Award: The Best State Level Teacher Award in 2014. 

(4) 
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 OR  

 You are Ayushman/ Ayushi Singhania, the Secretary of the Science Forum of Victoria 

Model School, Jammu. Draft a notice for the school notice board inviting students to 

attend a lecture to be delivered by an eminent scientist. Provide all necessary information 

(in about 50-80 words). 

 

5. A shopping complex suddenly caught fire when you were inside it. 2 people died in it 

and several others have been injured. There has been a huge damage. Write a report for 

the newspaper about the incident (in about 120 words). 

(6) 

                                                                   OR  

 Write a letter to your best friend telling him/her about the importance of living with 

grandparents and others in a joint family (in about 120 words). 

 

6. You are Mansi/Manish Roy of M.G. Road, Delhi. You are worried about the hike in the 

price of essential commodities like LPG gas, petrol, diesel, vegetables, pulses, etc. Write 

a letter to the editor of Hindustan Times, Delhi ,to draw the attention of the Government 

to take concrete steps  in order to curb the rising price/inflation (in about 120 words). 

(6) 

 SECTION C: GRAMMAR (20 MARKS)  

7. Fill in the blanks with appropriate modals from the brackets: (1×3=3) 

 a. It ______be difficult to live amidst war. (should/must)  

 b. ______you excuse me for a moment? (Would/Should)  

 c. You ____always ask for permission before using someone else’s things.(could/should)  

8. Underline the Subordinate clauses in the following sentences and identify them as 

Noun/Adjective/Adverbial clauses: 

(1×3=3) 

 a. Whatever we study, increases our knowledge.  

 b. He came to my house when I was not at home.  

 c. Rabindranath Tagore, who was a great poet, is held in high esteem by us.  

9. Do as directed:                (1×3=3) 

 a. How happy I am! (Identify whether the sentence is Imperative, Exclamatory or     

    Assertive) 

 

 b. You may write a letter. You may send a telegram. (Join the two sentences using a  

     co-ordinating conjunction and rewrite it.) 

 

 c. How beautiful is the Taj! (Convert into an Assertive sentence.)  

10. State whether the verbs in bold are transitive or intransitive:  (1×3=3) 

 a. She advised me to consult a doctor.  

 b. I waited for an hour.  

 c.  I received your letter in the morning.  

11. a. The following passage is not edited. There is an error in each line. Find out the   

    incorrect word and correct it in the given blanks:                                                      

 Incorrect word Correct word 

I had to go out despite a i. ___________ _________ 

heavy rain outside to get a expensive medicine. ii. ___________ _________ 

Although an one-day rest was much needed, iii.___________ _________ 

the doctor advised me to be regular with a 

dosage of the medicine. 

iv. ___________ _________ 

 

(1×4=4) 
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 b. Rearrange the words to form meaningful sentences: 

i) called/rose/the/queen/the/is/flowers/of 

ii) widely/it/grown/is/the/all/world/over 

iii) 500/there/about/are/species/roses/of/the/in/world 

iv) the/rose/Persian/best/is/the/all/amongst 

(1×4=4) 

 SECTION D: LITERATURE (24 MARKS)  

12. Read the extract and choose the correct answer from the given options: (1×4=4) 

 “I dream a world where all 

Will know sweet freedom’s way, 

Where greed no longer saps the soul 

Nor avarice blights our day.” 

a. Name two human vices mentioned in the above extract. 

i) anger, frustration       ii) sadness, jealousy         iii) greed, avarice    iv) greed, honesty 

b. The expression 'Where greed no longer saps the soul' means- 

i) in this world where people are greedy  

ii) where people are not guided by personal greed but by love and compassion  

iii) the soul is guided by man's greed                                                

iv) the soul is set free. 

c. The rhyme scheme of the given lines is- 

i) abbc                          ii) abcb                            iii) abab                       iv) abba 

d. The poet of the above extract is- 

i) Emily Dickinson     ii) Langston Hughes         iii) Haniel Long           iv) W. Allingham 

 

13. Read the extract and choose the correct answer from the given options: (1×4=4) 

 “Why do you take him to the office room?” 

a. The above extract is taken from __________. 

i) Fight Manju Fight       ii) A Hero    iii) Monkey Trouble      iv) Stone Soup in Bohemia 

b. The speaker of the extract is- _______________. 

i) Manju’s father    ii) the Burgomaster    iii) Swami’s grandmother   iv) Swami’s mother  

c. Who does ‘you’ refer to here? 

i) Swami’s father           ii) Swami’s mother     iii) the soldier               iv) Manju 

d. Why was the person being taken to the office room? 

i) to clean the office room                                                    ii) to find an important file 

iii) to sleep alone and prove his courage                             iv) to catch the burglar  

 

14. Answer the following questions in brief: 

a. What according to the soldier was the speciality of the stones? 

b. Why did Manjula tear her painting into pieces? 

c. How was grandmother convinced to keep Tutu as a pet? 

d. How did the child try to tempt the bird in the poem ‘Birdie, Will You Pet?’ ? 

(2×4=8) 

15. “Self- confidence and positive attitude can help a person overcome physical impairment 

in life”- Explain the statement in reference to ‘Fight Manju Fight !’. 

(4) 

16. Imagine yourself as the soldier in the story ‘Stone Soup in Bohemia’ and write a diary 

entry describing your feelings on befooling the villagers. 

(4) 

****************** 
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सामान्य निरे्दश:  
• इस प्रश्न-पत्र में दो खडं हैं : खडं- 'अ' और खडं -‘ब’। 
• दोनों खडं अननवार्य हैं। 
• प्रश्न-पत्र में छप ेहुए पषृ्ठों की संख्र्ा छह है। 
• प्रश्न-पत्र में कुल 18 प्रश्न हैं। 
• प्रश्नों के सभी उपभागों के उत् तर क्रमश: एक साथ ललखखए। 
• उत् तर-पुस्ततका में उत् तर के साथ वही क्रम संख्र्ा ललखखए, जो प्रश्न-पत्र में दी गई है। 

 खडं – ‘अ’  
1. क) प्रस्तुत गदयांश को पढ़कर कारण-प्रभाव की तालिका पूरी कीजिए- 

ववज्ञान और टेक्नोलॉजी ने इतनी तरक्की कर ली है कक आज का इंसान एक ददन में पूरी 
दनुनर्ा की सैर कर सकता है। स्जतना इंसान मशीनों के ऊपर ननभयर हुआ है, उतना ही 
उसके भीतर दहसंा, बरै-ववरोध, शोषण की भावना बढ़ गई है। शारीररक मेहनत करन ेवाले 
मज़दरूों के ललए मशीनों के कारण आज रोजगार के साधन कम हो रहे हैं। 

कारण प्रभाव 
________________________ आज का इंसान पूरी दनुनर्ा की 

सैर कर सकता है। 
इंसान मशीन पर ननभयर हुआ है। _______________________ 
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 ख) प्रस्तुत गदयांश के आधार पर सूयय ग्रहण एव ंचदं्र ग्रहण के बीच र्दो समािताएँ एव ंर्दो  
   असमािताए ँवेि आरेख के माध्यम से र्दशायइए- 
सूर्य एव ंचदं्र ग्रहण, दोनों स्तथनत में ही पथृ्वी, सूर्य एवं चदं्र एक पंस्क्त में आ जाते हैं। सूर्य 
ग्रहण तब होता है,जब चदं्रमा सूर्य और पथृ्वी के बीच में ददखाई देता है एव ंचदं्र ग्रहण तब 
होता है जब पथृ्वी चदं्रमा और सूर्य के बीच में ददखाई देती है। दोनों ही स्तथनत में पथृ्वी पर 
अधंकार छा जाता है। 

2×2=4 

 ग) प्रस्तुत गदयांश के आधार पर पूछे गए प्रश्िों के उत् तर लिखखए –  
ननहीं चींटी अनाज का टुकडा लेकर बार-बार चलने का अभ्र्ास करती है और अतंतः ऊँची 
चढ़ाई पर भी वह अनाज उठाए चलती जाती है। इस प्रकक्रर्ा में कई बार अनाज उसके मुँह 
से गगरता है, तो अनेक बार वह तवर्ं गगरती है, परंत ुवह दहम्मत हारे बबना लगी रहती है 
और अतंतः सफल होती है। इसी तरह पक्षी अपना घोंसला बनाने के ललए जगह-जगह स े
घास-फूस और लकडडर्ाँ एकत्र करते हैं, कफर अत्र्ंत पररश्रम और अभ्र्ास से घोंसला बनान े
में सफल हो जाते हैं। 

2×2=4 
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 क) प्रततुत गदर्ांश का कें द्रीर् भाव एवं उसका ववततार ललखखए।  
 ख) पक्षी घोंसला बनाने में ककस प्रकार सफल होते हैं?  
2. कथि A) और कारण R) को पढ़कर उपयुक्त ववकल्प चिुकर लिखखए- 

क) कथि A) : ‘ििधाराएँ’ शब्र्द बहुवचि का उर्दाहरण है। 
   कारण R) : जिि शब्र्दों से एक से अधधक के होिे का बोध होता है, उन्हें बहुवचि  
             कहते हैं। 

(i) कथन (A) तथा कारण (R) दोनों गलत हैं। 
(ii) कथन (A) गलत है, ककंत ुकारण (R) सही है। 
(iii) कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
(iv) कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की सही 

व्र्ाख्र्ा नही ंकरता है। 
ख) कथि A) : ‘कुछ चीिी’ पररमाणवाचक ववशषेण का उर्दाहरण है। 
   कारण R) : जिि ववशषेण शब्र्दों से संज्ञा या सवयिाम की निजश्चत संख्या का बोध हो,     
              उन्हें ‘संख्यावाचक ववशषेण’ कहते हैं। 

(i) कथन (A) तथा कारण (R) दोनों गलत हैं। 
(ii) कथन (A) गलत है, लेककन कारण (R) सही है। 
(iii) कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
(iv) कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की 

सही व्र्ाख्र्ा नहीं करता है। 
ग) कथि A) : ‘पक्षी उड़ रहे हैं।’ प्रस्तुत वाक्य सकमयक क्रिया का उर्दाहरण है। 
   कारण R) : जिस क्रिया में क्रकसी कमय की अपेक्षा रहती है, वह सकमयक क्रिया होती है। 

i) कथन (A) तथा कारण (R) दोनों गलत हैं। 
ii) कथन (A)गलत है, लेककन कारण (R) सही है। 

   iii)    कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
   iv)    कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की सही 
         व्र्ाख्र्ा नही ंकरता है। 

1×3=3 

3. निम्िलिखखत प्रश्िों के उधचत संबंध वािे ववकल्प छाँटिए– 
क) बीमारी : ई : : सांसाररक :  ? 
(i) बीमार    (ii) संसार    (iii) इक     (iv) संसारी 
ख) कुछ : अनिश्चयवाचक सवयिाम : : स्वयं : ? 
(i) पुरुषवाचक सवयनाम     (ii) ननश्चर्वाचक सवयनाम 
(iii) संबंधवाचक सवयनाम    (iv) ननजवाचक सवयनाम 
ग) िो संगीत का ज्ञाता हो : संगीतज्ञ :: िो पवयतों की चढ़ाई करे : ? 
(i) संगीतकार  (ii) पवयतारोही  (iii) शरेपा    (iv) पवयतकार 
 

1×3=3 
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4. निम्िलिखखत प्रश्िों के उधचत ववकल्प चिुकर लिखखए:- 
क) निम्िलिखखत शब्र्दों में से शुदध वतयिी वािा शब्र्द कौि-सा है? 
(i) नर्ारी     (ii) मदंृग      (iii) फागुण     (iv) रुप 
ख) निम्िलिखखत वाक्यों में से कौि-सा वाक्य प्रेरणाथयक क्रिया का उर्दाहरण है? 
i) तनमर् खेल रहा है।           (ii) नौकरानी बच्च ेको सुलाती है। 
iii) मोना ज़ोर-से हँस पडी।       (iv) मा ँने पवन स ेखाना बनवार्ा। 

1×2=2 

5. निम्िलिखखत ववकल्पों में से सबसे लभन्ि ववकल्प छाँटिए – 
क) (i) तोता    (ii) आम    (iii) बंदर     (v) दहमसागर 
ख) (i) कल     (ii) अभी   (iii) धीरे-धीरे  (iv) सुबह 

1×2=2 

6. प्रस्तुत धचत्रों के आधार पर निरे्दशािुसार प्रश्िों के उत् तर लिखखए– 
क) ‘अनुनालसक’ के प्रर्ोग वाला शब्द ललखखए। 
 
ख) ‘प्रत्र्र्’ ननलमयत शब्द ललखखए। 
 

1×2=2 

7. निम्िलिखखत कथिों को पढ़कर ‘सही’ या ‘गित’ लिखखए– 
क) ‘अदहसंा’ शब्द भाववाचक संज्ञा है। 
ख) ‘दगुुयण’ शब्द में ‘दरु’ प्रत्र्र् है। 

1×2=2 

8. उधचत ववसगय वािे शब्र्दों दवारा खािी स्थाि भररए–  
क) _________ तुमने अच्छा काम ककर्ा है। 
ख) अशुदध शब्दों को शुदध करके _______ ललखखए। 

1×2=2 

9. उधचत लमिाि कीजिए –  
स्तंभI स्तंभII 

क) जो मेहनत करेगा, वह सफल होगा। अ) तथानवाचक कक्रर्ा-ववशषेण 
ख) शैलजा अनत चतुर लडकी है। आ) संबंधवाचक सवयनाम 
ग) तुषार ऊपर बैठा है। इ) प्रववशषेण 

 

1×3=3 

10. निम्िलिखखत शब्र्दों में से पररमाणवाचक क्रिया-ववशषेण छाँिकर लिखखए-  
ध्र्ानपूवयक,    ऊपर,    कम,      कल 

1  

11. प्रस्ततु गदयांश को पढ़कर प्रश्िों के सवायधधक उपयकु्त ववकल्प का चयि कीजिए– 
दकुानदार ने अपनी खीझ बच्चों पर ननकालने के ललए उनहें अगधकतम दाम बताए और 
उनहें खझडक ददर्ा। दकुानदार की र्ह खझडक मुट्ठी में बच्चों को चभुी तो ज़रूर होगी, 
लेककन उनकी मजबूरी ने इस चभुन को बरदाश्त कर लेने के लसवा कुछ न कहने ददर्ा। 
बच्चों की इस भीड में कुछ ऐसे बच्च ेभी थे जो गरीब थे, मैले-कुचलेै कपड ेपहने थे और 
उनके हाथ में एक रुपर्ा तक न था। करन ेआए थे, सो हर दकुान पर खड ेहोकर एक-स-े
एक अच्छे पटाखों को देख रहे थे ताकक अपने लमत्रों के बीच बैठकर इस ववषर् पर चचाय 
कर सकें  कक इस बार दीवाली पर ककस प्रकार के पटाखे आए हैं। 

 
1×5=5 
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 क) र्दकुािर्दार िे बच्चों पर अपिी खीझ क्यों निकािी? 
i) बच्च ेपटाखे चरुाने आए थे।                 
ii) बच्च,े दसूरे बच्चों के पटाखे ले रहे थे।                 
iii) बच्चों ने दकुानदार से ठीक से बात नहीं की। 
iv) बच्च ेबार-बार ककसी-न-ककसी आइटम का दाम पूछ रहे थे।   

 

 ख) बच्चों को भगािे के लिए र्दकुािर्दार िे क्या क्रकया? 
i) बच्चों के पैसे ले ललए।           
ii) उनहें मुफ़्त में पटाखे दे ददए।  
iii) पटाखों के अगधकतम दाम बताए। 
iv) बच्चों को थाने में बंद करवा ददर्ा। 

 

 ग) ‘मुट्ठी में अपिी इच्छाओं को बंर्द क्रकए’ पंजक्त का क्या तात्पयय है? 
(i) मुट्ठी का खेल खेलना।         (ii) अमीरों की शान का होना । 
(iii) हाथ में सीलमत रुपर्ों का होना ।  (iv) इच्छाओं को प्रकट कर पाना । 

 

 घ) मुट्ठी में अपिी इच्छाओं को बंर्द क्रकए हुए बच्च ेपिाखों की र्दकुाि पर खड़ ेहोकर क्या   
   कर रहे थे? 
i) पटाखे चरुा रहे थे।     ii) दकुानदार से लड रहे थे। 
iii) 'ववडंो शॉवपगं' कर रहे थे।    iv) दीपावली की खरीददारी कर रहे थे। 

 

 ङ) अपिे लमत्रों के बीच बैठकर इस ववषय पर चचाय कर सकें  क्रक इस बार र्दीवािी पर क्रकस  
   प्रकार के पिाखे आए हैं। प्रस्तुत कथि से क्या स्पष्ि होता है? 

i) पटाखे न खरीद पाने पर भी ननराशा का भाव। 
ii) पटाखे न खरीद पाने पर भी संतोष का भाव। 
iii) पटाखे न खरीद पाने पर चरुाने का भाव। 

   iv)   पटाखे न खरीद पाने पर पछतावे का भाव। 
 

 

12. निम्िलिखखत कावयांश पर आधाररत बहुववकल्पी प्रश्िों के सवायधधक उपयकु्त ववकल्प को चुिकर 
लिखखए:-  

काल-ेकाल ेबादल भी,  
नभ में चलें, दहाड के। 
आँधी इतराने लगी,   
लगत ेही आषाढ़ के। 
सावन की शोभा नर्ारी,  
हररर्ाली के ठाठ हैं। 

नदी सरोवर छलक रहे,  
डूब गए सब घाट हैं। 
पता न चलता तारों का,  
जाने कहा ँमर्कं है। 
झाँक नहीं पाता सरूज, 
भादों का आतकं है।   

1×5=5 

 क) आषाढ़ महीिे की क्या ववशषेता है? 
i) आँधी इतराती है।  
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ii) अत्र्गधक बाररश होती है।  
iii) ववदर्ालर्ों की छुट्टी होती है। 
iv) नदी-सरोवर पानी से लबालब होते हैं। 

 ख) सावि की शोभा को न्यारी क्यों कहा गया है?  
i) होली का त्र्ोहार मनार्ा जाता है। 
ii) चारों ओर हररर्ाली छाई होती है। 
iii) खट्लमट्ठी-सी धपू होती है। 
iv) सभी खेल में लगे रहते हैं। 

 

 ग) ‘भार्दों’ को आतंक क्यों कहा गया है? 
i) अगधक बाररश के कारण घरों की छत गगरने लगती है। 
ii) दहसंक जानवर झाडडर्ों के पीछे नछपे रहते हैं। 
iii) सभी के घरों में पानी घुस जाता है। 
iv) सूरज-चाँद-तारे ददखाई नहीं देते। 

 

  घ) कववता के आधार पर लिखखए क्रक आषाढ़ के महीिे में निम्ि गनतववधधयों में से कौि- 
    सी िहीं होती है?  
i) आँधी आती है।   
ii) बादल गरजते हैं।   
iii) गरम हवाएँ चलती है।   
iv) प्रकृनत हरी-भरी हो उठती है।  

 

  ङ) ‘शलश’ शब्र्द का अथय लिखखए- 
i) मर्ंक   ii) अशंु   iii) नर्ारी    iv) दहाड 

 

 
13. 

खडं–‘ब’ 
निम्िलिखखत प्रश्िों में से क्रकन्हीं चार प्रश्िों के उत् तर िगभग 25-30 शब्र्दों में लिखखए– 
(क) राकेश के हाथ में चोट लग गई थी,कफर भी नाटक सँभालने हेत ुउसे मंच पर आना 

ही पडा। अगर श्र्ाम के संवाद भूल जाने पर राकेश के साथी भी नाटक सँभाल लेते, 
तो कहानी में क्र्ा पररवतयन आता?  

(ख) ‘बातूनी’ अध्र्ार् के आधार पर ललखखए कक ‘सज्जन’ व्र्स्क्त के ककन गुणों के 
कारण लेखक उनसे लमलना नहीं चाहते थे?   

(ग) ‘बारहमासा’ कववता में अगहन महीने को नाच नचा देने वाला महीना क्र्ों कहा गर्ा 
है?  

(घ) अजगर के चगंुल से आज़ाद होने एव ंसर्ाल के बोलने पर भी ननमयला क्र्ों नही ं
भागी? 

 
2×4=8  

 (ङ) सच्चाई और साहस के बल पर हम ककसी भी पररस्तथनत का सामना कर सकते हैं-  
‘सवाल का जवाब’ अध्र्ार् के आधार पर अपने ववचार ललखखए।   
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14. निम्िलिखखत प्रश्िों में से क्रकन्हीं चार प्रश्िों के उत् तर िगभग 40-50 शब्र्दों में लिखखए – 
(क) ‘ननमयला, साँप और सर्ाल’ पाठ के आधार पर ननमयला और सर्ाल के चाररबत्रक 

ववशषेताओं का तुलनात्मक वववेचन कीस्जएI अपने ववचारों से तपष्ट कीस्जए कक 
आप इनमें से ककसका गुण अपनाना चाहेंगे और क्र्ों? 

(ख) ववदर्ागथयर्ों को परीक्षाओं का समर् कदठन न लगे, इसके ललए उनहें क्र्ा-क्र्ा करना 
चादहए? 

(ग) बुदढ़र्ा, उसका पनत और बेटा ज़मीन पर सोए, लेककन लेखक के ललए उनहोंन े
चारपाई बबछा दी। प्रततुत पंस्क्त के माध्र्म से बुदढ़र्ा एव ं उसके पररवार की 
ववशषेताओं पर प्रकाश डाललए। 

(घ) समर् को बलवान क्र्ों कहा गर्ा है? तपष्ट कीस्जए I 
(ङ) लेखक की एवरेतट-र्ात्रा पढ़कर आपको क्र्ा प्रेरणा लमलती है?  

3×4=12 

15. निम्िलिखखत में से क्रकसी एक ववषय पर िगभग 80 शब्र्दों में अिुच्छेर्द लिखखए-  
क) बातचीत एक कला 
ख) जीवन में अनुशासन का महत् त् व  
ग) जहाँ चाह : वहाँ राह 

5 

16. आपकी कक्षा का तमाटय-बोडय ख़राब हो गर्ा हैI इसकी सूचना देते हुए लगभग 100 शब्दों में 
प्रधानाचार्य जी को पत्र ललखखएI  

अथवा 
बुरी संगनत स ेबचने की सलाह देते हुए लगभग 100 शब्दों में अपन ेछोटे भाई को पत्र 
ललखखए। 

5 

17. ‘दंतमंजन’ का आकषयक ववज्ञापन लगभग 50-60 शब्दों में तैर्ार कीस्जए। 
अथवा 

‘जल संरक्षण’संबंगधत नारा ललखते हुए लगभग 50-60 शब्दों में एक आकषयक ववज्ञापन 
तैर्ार कीस्जएI 

5 

18. ‘वप्रर् लशक्षक/लशक्षक्षका’ पर दो लमत्रों के मध्र् होने वाली बातचीत को लगभग 60-70 शब्दों 
में संवाद के रूप में ललखखए। 

अथवा 
‘चदं्रर्ान-3’ की लैंडडगं की सफलता पर वपता और पुत्र के मध्र् होने वाली बातचीत को 
लगभग 60-70 शब्दों में संवाद के रूप में ललखखएI 
 

************************ 

5 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST -2 /HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VII                                      Maximum Marks: 80 

Subject: Mathematics                                                                                       Time: 3 Hours             
General instructions: 

• All questions are compulsory. 

• The question paper consists of 36 questions & 6 printed pages divided into 5 sections  

A, B, C, D and E. 

• Section A comprises of 16 very short answer questions of 1 mark each. 

•  Section B comprises of 6 questions of 2 marks each.  

• Section C comprises of 7 questions of 3 marks each.  

• Section D comprises of 3 questions of 5 marks each. 

• Section E comprises of 4 case study-based questions of 4 marks each. 

• There is no overall choice. However, an internal choice has been provided in five questions of 1 

mark, two questions of 2 marks, two questions of 3 marks, one question of 5 marks. 

 SECTION – A  

1. Write two rational numbers equivalent to 
4

7
. (1) 

2. Write the absolute value of  
1

−5
. 

OR 

On the number line, the rational number 
−5

−7
  lies on which side of zero? 

(1) 

3. Find the value of:  −
7

11
+

1

4
 (1) 

4. Find the reciprocal of: 
  11

−12
 (1) 

5.  Fill in the blank: ______×(−5
1

3
) = 1 (1) 

6. Express 7.50 as rational number in standard form.                            (1) 

7. Find the value of 16.016 0.4 . (1) 

8. 22

7
 can be represented as a terminating decimal. (True/False) 

(1) 

9. Convert 0.05 into per cent. 

OR 

Find 75% of 1 kg. 

(1) 

10. Multiply: 
25 by 4x y xy  

OR 

Find the area of a rectangle whose sides are 2a and 3a. 

(1) 

11. Find the product:  
2( 3 )(4 )x xy x+  (1) 

12. The two interior opposite angles of an exterior angle of a triangle are 60° 𝑎𝑛𝑑 80°. Find 

the measure of the exterior angle. 

(1) 
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13. Fill in the blank: In Δ𝐴𝐵𝐶, 𝐴𝐵 + 𝐵𝐶 > ____. 

 

(1) 

14. Find the value of x in the following figure. 

 

 

 

OR 

Find the value of x in the following figure (measures are in cm). 

 

 

 

(1) 

15. How many lines of symmetry are there in a regular hexagon? 

OR 

Write two letters of the English Alphabet that do not have any line of symmetry. 

(1) 

16.  What other name can you give to the line of symmetry of an equilateral triangle? (1) 

 SECTION – B  

17.  Express −
3

125
 as decimal. 

OR 

Without actual division, check if   
13

80
  will have a terminating or non-terminating decimal 

representation.  

(2) 

18. Simplify and express the result as decimals: 

12×13.6×0.25 

(2) 

19. Find the value of  1 +
1

1+
1

6

  . 

OR 

Find the reciprocal of  
4

5
× (

3

−8
). 

(2) 

20. After an increase of 20%, a number becomes 450. Find the original number.  (2) 

21. Find the product of : (3𝑥 + 4𝑦)(−2𝑥2 + 𝑥𝑦 − 𝑦2)  (2) 

22. The sides of a triangle are in the ratio 3 : 4 : 5. State whether the triangle is right-angled 

or not. 

(2) 

 SECTION – C  

23. Arrange in descending order: 

7 8 19 2
, , ,

10 15 30 5

− −

− −
 

(3) 

24. Divide the difference of  
15

8
 ,

−12

24
 by their product. (3) 
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25. If the number 
1 2 3 4

2 3 4 5
+ + +  is expressed as a decimal, will it be terminating or non-

terminating? Justify your answer. 

(3) 

26. In a school, out of 300 students, 70% are girls and 30% are boys. If 30 girls leave the 

school and no new boy is admitted, what is the new percentage of girls in the school? 

OR 

The cost of 12 pens bought by a shop keeper is same as the selling price of 15 pens. 

Calculate the profit or loss percent made, if all the pens bought are considered to be sold. 

(3) 

27. The perimeter of a triangle is 14a2+20a+13. Two of its sides are 3a2+5a+1 and a2 + 10a - 

6. Find its third side. 

(3) 

28. Two poles of height 9 m and 14 m stand upright on a plane ground. If the distance 

between their feet is 12 m, find the distance between their tops. 

OR 

In the given figure Δ𝑃𝑄𝑅 & Δ 𝑆𝑄𝑅 are isosceles triangles, then find the value of 

∠𝑃𝑄𝑅, ∠𝑆𝑄𝑅 and 𝑥 . 

 

 

 

(3) 

29. l, m, n, t  are the lines of symmetry of the line segments XQ,PR,PS and RY respectively. 

If XP is 2 cm, find the length of the line segments PQ, RS and QY. 

 

(3) 

 SECTION – D  

30. a) Represent 
1

5
3

 and 
29

4

−
  on a number line.  

b) Find the value of x if 
23 2

8x
=
−

. 

(3+2=5) 

31. By selling two chairs for ₹600 each, a shopkeeper gains 20% on one chair and loses 20% 

on the other. 

(2+2+1=5) 
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Find :    i)  C.P. of each chair 

             ii) Total C.P. and total S.P. of both the chairs. 

            iii) Overall profit or loss percent. 

32. In the given figure, ABCD is a rectangle with length (2𝑝2 − 𝑞2) 𝑎𝑛𝑑 breadth         

(2𝑞2 + 4𝑝2). Find the area of the shaded region. 

 

 

 

 

 

OR 

Find the product of the following 

(6𝑎2𝑏𝑐 − 12𝑎𝑏𝑐 + 15 𝑎𝑏2)(4𝑎𝑏𝑐 − 5𝑏𝑐)  

Also, find the HCF of the terms of its product. 

(5) 

 SECTION – E 

Case based questions 

 

33. Rajendra is well known businessman and also 

a member of a Non-Government 

Organisation working for the education of the 

girl child. He donated 
2

3
 of his monthly 

income to the NGO, spent  
1

5
 of his salary on 

food items, and 
1

15
 of his salary in meeting out other expenses. He is left with ₹9000. 

Based in the above information answer the following questions by selecting the correct 

options (answer any four). 

(i) What is Rajendra’s monthly salary? 

   (a) ₹45,000            (b) ₹60,000             (c) ₹1,00,000               (d) ₹1,35,000 

(ii)  How much amount did he donate to NGO? 

   (a) ₹45,000             (b) ₹60,000           (c) ₹90,000                   (d) ₹95,000 

(iii) How much money did he spend on food items? 

   (a) ₹27,000            (b) ₹50,000            (c) ₹75,000                   (d) ₹90,000 

(iv) fill in the blank: −
1

8
×______= 1 

   (a) 
1

8
                       (b) 8                       (c) −8                           (d) −16 

(v) What should be added to −
5

11
 to get 

6

11
? 

   (a) 
1

33
                   (b) 

20

33
                         (c) 1                            (d) −1 

(4) 
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34. Raman, a poor farmer borrowed 

₹60000 from a moneylender at 15% per 

annum simple interest. Due to lack of 

rain during the monsoon season he did 

not get proper yield from his field. By 

the end of the year he returned ₹45000 

to the money lender and promised to 

pay the remaining amount later. The moneylender was a wicked person and didn’t agree 

to his proposal, instead he took one of the cows of Raman and cleared all his debt. 

Based on the above information answer the following questions (answer any four). 

(i) Find the interest on the money borrowed by Raman. 

   (a) ₹7,000                  (b) ₹9,000                      (c) ₹10,000                   (d) ₹15,000 

(ii) What amount Raman had to pay to clear his debt? 

   (a) ₹45,000               (b) ₹52,000                     (c) ₹69,000                  (d) ₹1,05,000 

(iii) For what outstanding amount was the cow exchanged? 

   (a) ₹24,000              (b) ₹30,000                      (c) ₹35,000                  (d) ₹40,000 

(iv) Which of the following is a formula of finding the time period if Simple Interest, 

principal and rate of interest are given? 

   (a) 
𝑃×𝑅×𝑇

100
                  (b) 

𝑆𝐼×𝑅×𝑇

100
                        (c) 

𝑃×𝑅

100×𝑆𝐼
                      (d) 

𝑆𝐼×100

𝑃×𝑅
 

(v) Find the simple interest on ₹500 for five years at the rate of 2% per annum. 

   (a) ₹ 40                     (b) ₹ 50                           (c) ₹ 55                          (d) ₹ 60 

 

(4) 

35. Due to heavy rain and storm, a tree broke and 

fell on the road which prevented the people 

and vehicles to pass by (see the figure). The 

height of the unbroken part is 15 m and the 

broken part had fallen at 20 m away from the 

base of the tree. A group of men decided to 

solve the problem, they detached the broken 

part and put it aside. 

Based on the above information answer the following questions (answer any four). 

i) What is the length of the broken part? 

   (a) 15 m                      (b) 20 m                         (c) 25 m                             (d) 30 m 

(ii) What is the height of the full tree? 

   (a) 40 m                     (b) 45 m                          (c) 50 m                             (d) 60 m 

(4) 
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(iii) What is the perimeter of the formed right angled triangle? 

  (a) 40 m                      (b) 45 m                          (c) 50 m                            (d) 60 m 

(iv) In a right triangle, the orthocentre is at ______. 

 (a) vertex of the right angle                                           (b) bisector of the hypotenuse 

    (c) vertex adjacent to right angle                                    (d) circumcentre of the triangle 

(v)  The point of concurrence of the angle bisectors of a triangle is called – 

  (a) orthocentre           (b) incentre                     (c) circumcentre              (d) centroid 

36. Akash a student of class VII wanted to create a beautiful design on the cover of his 

mathematics notebook, he wrote Mathematics in a beautiful symmetrical structure as 

shown below. 

 

 

 

Based on the above information answer the following questions (answer any four). 

(i)  The alphabet having no line of symmetry. 

    (a) M                       (b) A                        (c) T                                   (d) S 

(ii)  The alphabet having two lines of symmetry. 

    (a) M                       (b) H                       (c) T                                    (d) C 

(iii)  How many lines of symmetry a circle has? 

    (a) 0                          (b) 1                       (c) 2                                   (d) infinite 

(iv) Which of this letters has reflection symmetry about both horizontal and vertical 

mirrors. 

    (a) Ο                       (b) S                         (c) P                                  (d) N 

(v)  How many lines of symmetry an isosceles triangle has? 

    (a) 0                         (b) 1                       (c) 2                                   (d) infinite  

(4) 

                                                                        

 

                                                *********************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/ HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VII                                    Maximum Marks: 80 

Subject: Bengali                                                                                 Time: 3 Hours 

নির্দেনিকা:  ক) এই প্রশ্নপর্ে ম াট ৪ নট নিভাগ আর্ে ও ম াট ১২ নট প্রশ্ন আর্ে।  
            খ) এই প্রশ্নপর্ে ম াট ৪ নট পৃষ্ঠা আর্ে।  
 নিভাগ-ক  

1. িীর্ের অিুর্েদ দুনট পর্ে প্রশ্নগুনির উত্তর মির্খা।                                   
অ.  হাকার্ি ওোর স য়  হাকািোরী অিুভি কর্রি ভারহীি অিস্থা। এনট এ ি এক অদু্ভত অিস্থা, যা 
পৃনিিীর্ত িাকর্ত  হাকািোরী কখিই অিুভি কর্রিনি। ভারহীি অিস্থার সর্ে  হাকািোরী যার্ত 
পনরনেত হর্ত পার্রি, মসজিয  হাকার্ি পাঠার্িার আর্গ তার্ক িািাভার্ি প্রনিক্ষণ মদওয়া হয়, তিু 
অিস্থাটার সর্ে তাি ম িার্িা মিি িক্ত। ভারহীি অিস্থা  হাকািোরীর হৃৎযর্ের েন্দর্ক নিনিত করর্ত 
পার্র। পনরণার্  তার জীিি নির্য় টািাটানি হর্ত পার্র। দুরন্ত গনতর্ত  হাকািযাি িাইর্র মির্ক পৃনিিীর্ত 
ম াকার স য় এিং িা ার স য়  হাকািোরীর্দর রক্তোপ মিি কর্  যায়। মদখা মগর্ে, অিতরর্ণর পর 
অর্ির্ক দাাঁোর্ত পারর্েি িা।  হাকার্ি িাকার স য়  হাকািোরীর আর্রা অর্িক উপসগে মদখা নদর্ত 
পার্র। ময ি - িন  িন  ভাি, দৃনিনিভ্র  প্রভৃনত।  নিষ্ক এই স য় নভন্ন রক  আেরণ কর্র। নিষাক্ত 
গােপািা মখর্ি  নির্ষ্ক ময ি প্রনতনিয়া মদখা মদয়,  নিষ্ক নঠক মসই রক  অস্বনি অিুভি কর্র — 
পনরণার্  ভীষণ িন  পায়। তর্ি, এজিয  হাকািোরীর্ক ক োন ো ওষুধ মখর্ত মদওয়া হয় িা। যার্ত 
অিস্থাটার সর্ে ধীর্র ধীর্র তারা নির্জর্ক খাপ খাইর্য় নির্ত পার্রি। োাঁর্দ মগর্ি  হাকািোরীর্ক আর্রা 
অর্িক রক  অসুনিধার সমু্মখীি হর্ত হয়। আ ার্দর িাাঁোর জিয োই অনির্জি নকন্তু োাঁর্দ অনির্জি 
মিই। ওখার্ি তাপ াোও ের  — নদর্ি অকল্পিীয় গর , আিার রার্ত প্রেন্ড ঠান্ডা। নিনকরর্ণর কির্ি 
পের্ি  ািা ম ারা, িন  িন  ভাি, অিসাদ এসি উপসগে মতা মদখা নদর্তই পার্র, মসই সর্ে ো োর 
উপর্র অদু্ভত প্রনতনিয়া মদখা মদওয়া, রর্ক্তর মেতকনণকার সংখযা কর্  যাওয়া, মরাগ-প্রনতর্রাধক ক্ষ তা 
হানি প্রভৃনত গুরুতর স সযায় পোরও সম্ভািিা িার্ক। এই কারর্ণ  হাকািোরীর্ক  হাকার্ি পাঠার্িার 
স য় িািা ধরর্ির সতকেতা ূিক িযিস্থা মিওয়া হয়।  হাকািোরীর্ক পরার্িা হয় নির্িষ ধরর্ির মেস 
সুযট। এই নির্িষ মপাশোকই  হাকািোরীর্ক প্রর্য়াজিীয় অনির্জি মযাগায়, নিনভন্ন নিনকরণ মির্ক িরীরর্ক 
রক্ষা কর্র, িরীরর্ক গর  রার্খ, রক্তোপ সনঠক রার্খ।  

(1×10=10) 

 ক)  হাকার্ি ওোর স য়  হাকািোরী কী রক  অিস্থা অিুভি কর্রি?  

 খ)  হাকার্ি িাকার স য়  হাকািোরীর্দর কী কী উপসগে মদখা নদর্ত পার্র?  

 গ) োাঁর্দ কী মিই?  

  ) মেস সুযট পরর্ি  হাকািোরীরা কী কী উপকার পায়?  

 ঙ) নিপরীত িব্দ মির্খা: অস্বনি 
 
 
 
 
 
 
 

 

 

  
আ. নিনভন্ন মিৌদ্ধ পুাঁনি মির্ক জািা যায়, জীির্কর জীিিকানহনি নেি অতযন্ত বিনেেযপূণে। তক্ষিীিা মির্ক 
পাঠ স াপ্ত কর্র নির্র আসর্তই তাাঁর্ক  হাস াদর্র গ্রহণ করর্িি রাজা নিনিসার। নির্জর পােেের, 
উপর্দিা এিং নেনকৎসক রূর্প তাাঁর্ক নিযুক্ত করর্িি। রাজা নিনিসার নের্িি পর  মিৌদ্ধ। কনিত আর্ে, 
 াে ২৯ িের িয়র্স নসদ্ধািে সংসার তযাগ কর্র প্রির্  নগর্য়নের্িি বিিালীনে। তারপর আরােকািা  ও 
রুদ্রর্কর নিষযত্ব গ্রহণ করার পর  ুরর্ত  ুরর্ত এর্সনের্িি রাজগৃর্হ। এই রাজগৃর্হর পূিে িা  নেি 
নগনরব্রজ।  হাভারত-প্রনসদ্ধ প্রিি পরািান্ত সম্রাট জরাসর্ের রাজধািী। প্রি  দিের্িই নিনিসার নসদ্ধার্িের 
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প্রনত এত আকৃি হর্য়নের্িি ময, িার িার েোাঁন  অিুর্রাধ কর্রনের্িি রাজগৃর্হ মির্ক যাওয়ার জিয। 
মসনদি নসদ্ধািে তাাঁর অিুর্রাধ রক্ষা করর্ত পার্রিনি। তর্ি কিা নদর্য়নের্িি সাধিায় নসনদ্ধ িাভ করর্ি 
নতনি আিার আসর্িি রাজগৃর্হ। তারপর মকর্ট মগি দী ে েয় িের। মিানধ িা নদিযজ্ঞাি িাভ কর্র সনিষয 
িুদ্ধর্দি সারিাি হর্য় িি ধ ে প্রোর্র এর্িি রাজগৃর্হ। নিনিসার পর  ভনক্তভর্র িুদ্ধর্ক অভযিেিা জািার্িি 
এিং গ্রহণ করর্িি তাাঁর নিষযত্ব। মসনদি জীিকও িরণ নির্িি িুর্দ্ধর পার্য়। 

 ক) জীিক মকািা মির্ক পাঠ স াপ্ত কর্র নির্র আর্সি?  

 খ) রাজা নিনিসার জীিকর্ক মকান্ মকান্ রূর্প নিযুক্ত করর্িি?  

 গ) রাজগৃর্হর পূিেিা  কী নেি?  

  ) নসদ্ধািে, রাজা নিনিসারর্ক কী কিা নদর্য়নের্িি?  

 ঙ) অিে মির্খা: প্রনসদ্ধ  

 নিভাগ-খ  

2. অিুর্েদ মির্খা। (কে মকার্িা ১নট)                                                                                         

ক)  হাকাি গর্িষণায় ভারত            খ) নিজ্ঞাি ও কুসংস্কার                গ) নিদযাসাগর          

(5) 

3. মতা ার নিদযাির্য় িি র্হাৎসি কীভার্ি পানিত হি তা জানির্য় িেুর্ক একনট নেনঠ মির্খা। 
অিিা 

িব্দ দূষণ িে করর্ত ময সি সািধািতা মিওয়া উনেত তা উর্েখ কর্র সাধারণ  ািুষর্ক পনরর্িি সর্েতি 
কর্র মতািার প্রর্য়াজিীয়তা সম্পর্কে জানির্য় িেুর্ক একনট পে মির্খা।                            

(5) 

 নিভাগ-গ  

4. সনঠক উত্তরনট নিিোেি কর্র মির্খা। (প্রশ্ন  ং – ‘ ’ কেন  ‘ঝ’ পেযন্ত) (1×10=10) 

 ক) আ + পদ - সনেিদ্ধ করর্ি হয়— 
i) আপদ           ii) আেদ            iii) আিপদ          iv) আষ্পদ 

 

 খ) ‘সোি’ পদনটর সনে নির্েদ করর্ি হয়— 
i) সন্ + ধাি     ii) সনে + আি      iii) সম্ + ধাি      iv) স া + ধাি 

 

 গ) উৎ + নিনখত - সনেিদ্ধ করর্ি হয়— 
i)  উৎনিনখত     ii) উনেনখত         iii) উর্েনখত        iv) মকার্িানটই িয়  

 

  ) ‘ত’ এিং ‘দ’ এর পর  ‘ে’ িা ‘ে’ িাকর্ি ‘ত’ ও ‘দ’ এর স্থার্ি  
i) দ হয়          ii) ে হয়           iii) ৎ হয়           iv) ে হয় 

 

 ঙ) প্রদত্ত প্রশ্নগুনির  র্ধয মকািনট নিপাতর্ি নসদ্ধ িযঞ্জিসনের উদাহরণ—   
i) িৃহেনত       ii) সংসার          iii) উন্ননত          iv) নিনেন্ন 

 

 ে) ‘িাগীেরী’ – মকান্ দুনট ধ্বনির ন ির্ি হর্য়র্ে?  
i) িাগ + ঈেরী     ii) িানগ + ইেরী      iii) িাক্ + ঈেরী     iv) িানক + ঈেরী     

 

 ে) জগৎ + নহতায় - সনেিদ্ধ করর্ি হয় — 
i) জগনদ্ধতায়     ii) জগতনহতায়      iii) জগৎনহতায়      iv) জগনিতায় 

 

 জ) খুর্ির জিয আসা ীর যািজ্জীিি সাজা হি।— এখার্ি যািজ্জীিি পদনটর সনে নির্েদ করর্ি হয় -  
i) যািদ + জ্জীিি       ii) যািৎ + জীিি       iii) যািৎ + জ্জীিি       iv) যািদ  + জীিি 

 

 ঝ) উেৃঙ্খি - সন্ধিবদ্ধ শব্দন্ধিনে মকান্  দুনট ধ্বনির ন িি হর্য়র্ে?  
i) ত  + ি        ii) ত  + স          iii) দ  + ি          iv) চ  + ছ  

 

 ঞ) িূিযস্থাি পূরণ কর্রা।  
‘ য়’ এিং _________ িব্দ পর্র িাকর্ি ির্গের তৃতীয় িণে হয় িা, মকিি াে পঞ্চ  িণে (ঙ, ঞ, ণ, 
ি,  ) হয়। 
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5. িীর্ে মদওয়া  ন্তিয ও যুনক্ত নির্েষণ কর্র সমূ্পণে সনঠক নিকল্পনট নেনিত কর্র মির্খা। (1×2=2) 

 ক)  ন্তিয: নিভনক্ত হি  ূি ির্ব্দর সর্ে যুক্ত হওয়ার উপযুক্ত িণে িা িণেস নি।                                     
   যুনক্ত: ির্ব্দর সর্ে নিভনক্ত যুক্ত করর্ি হয় পদ এিং এক াে পদই িার্কয িযিহৃত হয়। 

 

 i)  ন্তিয শুদ্ধ, যুনক্ত অশুদ্ধ                 ii)  ন্তিয ও যুনক্ত উভর্য়ই অশুদ্ধ   
iii)  ন্তিয অশুদ্ধ, যুনক্ত শুদ্ধ               iv)  ন্তিয ও যুনক্ত উভর্য়ই শুদ্ধ 

 

 খ) িা নদক ও ডািনদক ন নির্য় সনঠক নিকল্পনট মির্ে নির্য় মির্খা।                                                             

    িা নদক                                   ডািনদক 
অ) অনিি মখির্ে- এনট                   a) ক ে কারর্কর উদাহরণ 

 

 আ) সু ি নিসু্কট খায়- এনট                b) করণ কারর্কর উদাহরণ  

 ই) কি  নদর্য় নিখর্ে - এনট              c) অপাদাি কারর্কর উদাহরণ   

 ঈ) িদী মির্ক জি আন ো- এনট            d) কতৃে কারর্কর উদাহরণ  

 i) অ- a, আ- c, ই- b, ঈ- d              ii) অ- d, আ- a, ই- b, ঈ- c    
iii) অ- a, আ- d, ই- b, ঈ- c            iv) অ- a, আ- c, ই- d, ঈ- b                                                

 

6. সনঠক উত্তরনট নিিোেি কর্র মির্খা। (প্রশ্ন  ং – ‘ ’ কেন  ‘ঙ’ পেযন্ত) 
ক) দাাঁত িাকর্ত দাাঁর্তর  যোদা নদর্ত হয়। — মরখানিত অংিনট কী ধরর্ির কতো?  
i) প্রর্যাজয কতো     ii) অিুক্ত কতো       iii) স ধাতুজ কতো    iv) নিরর্পক্ষ কতো 
খ) জটায় সন্নযাসী মেিা যায়। — মরখানিত অংিনটর কারক নিণেয় কর। 
i) নিন ত্ত কারক     ii) অনধকরণ কারক   iii) ক ে কারক       iv) করণ কারক 
গ) িার্কযর স ানপকা নিয়ার্ক ‘র্ক’ নদর্য় প্রশ্ন করর্ি পাওয়া যায় — 
i) কতৃে কারক       ii) ক ে কারক        iii) নিন ত্ত কারক     iv) করণ কারক 
 ) কারর্কর অিে প্রকাি করার জিয নিভনক্ত রূর্প িযিহৃত পদগুনির্ক িিা হয় —  
i) কারক পদ       ii) ধাতু নিভনক্ত       iii) অ-কারক পদ      iv) অিুসগে   
ঙ) নিক েক নিয়ার িস্তুিােক নিভনক্তহীি ক েনটর্ক িিা হয় — 
i) উর্েিয ক ে      ii) মগৌণ ক ে          iii)  ুখয ক ে         iv) নির্ধয় ক ে 
ে) নঠক/ভুি নিণেয় কর্রা।  
নিয়া সম্পাদর্ির উপায় ইনিয়র্গাের িা হর্ি উপায়াত্মক করণ হয়। 

(1×8=8) 

 ে) িূিযস্থাি পূরণ কর্রা। 
i) নিয়াপদ এিং কতো একই ধাতু মির্ক উৎপন্ন হর্ি ঐ কতোনটর্ক িিা হয় _____________। 
ii) ক োন ো িার্কয অস ানপকা নিয়ার কতোর্ক ির্ি ____________ ।  

 

 নিভাগ-   

7. সনঠক উত্তরনট মির্ে নির্য় মির্খা।  
ক) ‘হইি নিগত িযিা, িাাঁনেি __________;’ (কু ার /  রাি / মদিদত্ত) 
খ) ‘…নিি িের ধর্র মস  েিরূনপণী জগদ্ধােীর  র্তা দিহাত িানের্য় প্রনত নিদা - ধযার্ি কত 

______________ পন্ধি-পনিকর্ক জি ক োগার্ে।’ (নপপাসাতুর / তৃষ্ণাতুর / তৃষ্ণাতে) 
গ) নসদ্ধািে হংর্সর নিনি র্য় নদর্ত মের্য়নেি—  
i) িাকয রাজয         ii) স্বণে অিংকার          iii) স্বণে  ুকুট         iv) ম াহর 
 ) িিািগঞ্জ মির্ক রতিপুর পযেন্ত  াঠটা ________________ করোনশর কবন্ধশ হনব কেো  ম  য়। 
i) সার্ে নতি         ii) সার্ে োর              iii) সার্ে পাাঁে        iv) সার্ে েয়    
  

(1×4=4) 
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8. একনট িার্কয উত্তর মির্খা। 
ক) ‘পনিি’ িব্দনটর অিে কী? 

(1×6=6) 

 খ) ভক্ত প্রিীণ সারানদি  নন্দর্র ির্স কী করত?  

 গ) মদিতা মকািায় িার্কি?  

  ) মক িািক রিীিিাির্ক প্রনতনদি স্নাি করার্ত নির্য় মযত?  

 ঙ) সূযে উপর্র উঠর্ি অর্ধেক আনঙিায় কী মহর্ি পেত?   

 ে) কার্ঠর ডাণ্ডার উপর কতক্ষণ ধর্র রিীিিাি িরীরটার্ক উিট-পািট করর্তি?  

9. িীর্ের প্রশ্নগুনির যিাযি উত্তর মির্খা।  

 ক) ‘তার পৃনিিীর িানিকা-জীির্ির ইনতহাস মস মভার্িনি…।’— িানিকা-জীির্ির ইনতহাস স্মরর্ণ মরর্খ 
মস কী কর্রর্ে তা মির্খা। উনেি িযনক্তর িানিকা-জীির্ির ইনতহাসনট কী? 

(2+3=5) 

 খ) ‘িুর্ো ম াো পািনক-গানের্ত কর্র মটর্ি নির্য় েিি আ ায় দিটা-োরটার আন্দা ার্ি।’— পািনক গানে 
কর্র মক, মকািায় মযর্তি ? নতনি ‘দিটা-োরটার আন্দা াি’ কিানট মকি ির্ির্েি ? 

(2+3=5) 

10. িীর্ের প্রশ্নগুনির যিাযি উত্তর মির্খা।                                                                     

 ক) ‘জগর্ত দনরদ্ররূর্প নিনর দয়া তর্র;                                                                                          
গৃহহীর্ি গৃহ নদর্ি আন  িানক  র্র।’— মক, কার্ক এ কিা ির্ির্ে? িক্তা আর্িােয উনক্তনট মকি কর্রনের্িি, 
তা নির্জর ভাষায় সংর্ক্ষর্প আর্িােিা কর্রা।                                                                    

(2+3=5) 

 খ) সপ্রসে িযাখযা মির্খা। 
‘হতজীি হতযাকারী/ পায় যনদ ভাই!’  

(5) 

11. িীর্ের প্রশ্নগুনির একনট িার্কয উত্তর মির্খা। (1×5=5) 

 ক) মগাাঁসাইগর্ঞ্জর  াস্টার্রর িা  কী? 
খ) ‘ াস্টার হািয়’ গল্পনট কার মিখা? 
গ) এম ন্ধস ন্ধস-র মে অ ুেোয়ী নির্কট ির্ির  াপ কত? 
 ) কস আ র্ি নির্কর্টর আইিকািুি কারা বতনর করত? 
ঙ) প্রেম আ র্ি স্টার্ম্পর  ািায় ক’নট মিি িাকত? 

 

12.   প্রশ্নগুনির যিাযি উত্তর মির্খা।  

 ক) ‘নিোর্রর নদি নস্থর হইি—আগা ী বিিাখী পূনণে া,…’— কার্দর পরা র্িে কীভার্ি নিোরপ্রািেী জয়পে   
    পার্িি ির্ি নস্থর করা হি? 

(2) 

 খ) ‘নকেুনদি পর্রই মদখা মগি, আম্পায়ারর্দর ির্োই অসুনিধা হর্ে।’ — আম্পায়ারর্দর অসুনিধা হওয়ার  
    কারণনট আর্িােিা কর্রা।                                                                                           

(3) 

 

******************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VII                           Maximum Marks: 80 

Subject: Sanskrit                                                         Time: 3 Hours                                                          

निरे्दशा:  

1. अस्मिि    प्रश्नपत्रे 5 खण्ााः सस्ति।  
2.  प्रनिखण्मय उत्तरास्ि पथृक   प्रर्दत्तायाि    उत्तरपुस्मिकायाां लेखिीयानि।  

3. प्रत्येकां  खण्ि    अनिकृत्य उत्तरास्ि क्रिेि लेखिीयानि।  
4. प्रश्नसङ्ख्या प्रश्नपत्रािुसारां लेखिीया।  
5. खण्सङ्ख्या अपप लेखिीया।  
6. अस्मिि    प्रश्नपत्र े20 प्रश्ना: 8 पषृ्ठानि च सस्ति।  

 खण्ाः ‘क’ अपठिि-अवबोििि   (10)  
1. I. अिोनलस्खिां गद्ाांशि   आिारीकृत्य गद्ाांशमय शीर्षकां  द्वौ सूचकौ च आरेखिाध्यिेि   

नलखि।  
श्रीरािाः ियाषर्दापुरुर्ोत्तिाः आसीि  । पपिु: आज्ाां पालनयिुां स: चिुर्दषशवर्ाषस्ि यावि   वि े
निवासि   अकरोि  । िेि सह िमय पत्नी सीिा भ्रािा लक्ष्िि: चापप विि   अगच्छिाि  । 
विे रावि: सीिाि   अपाहरि  । राि: राविां हत्वा सीिाि   आियि  । साः लांका-राज्यि   
पवभीर्िाय अयच्छि  । रािायिे श्रीरािमय जीवि-कथा अस्मि। 

 

 अ) अमय गद्ाांशमय शीर्षकां  नलखि। 
आ) शीर्षकां  सिथषिां करोनि एवि   द्वौ सूचकौ गद्ाांशाि   नचत्वा नलखि। 

(1) 
(1+1=2) 

 II. अिोनलस्खिानि वाक्यानि कथाक्रिािुसारेि आरेखिाध्यिेि नलखतिु। 
क) सािुाः वसृ्िकि    अगहृ्णाि   , वसृ्िकाः च हमिि    अर्दशि   ।   
ख) सािुाः िद्ाि    एकां  वसृ्िकि   अपश्यि  । 
ग) एकस्मिि   ठर्दिे सािुाः मिािाय िर्दीि   अगच्छि  । 
घ) वसृ्िकाः िर्दीिटां गििाय प्रयत्नि    अकरोि   । 

(½x4=2) 
 

क 

ख 

ग घ 



2 
 

गजाः 
अतिराः 

(i) 
  

 

 

िगृ: 
अतिराः 

(i) 
  

 

 

 III. अिोनलस्खिां गद्ाांशि   अनिकृत्य कारिां प्रभावाः च 'टी-चाटष' िाध्यिेि नलखतिु। 
प्रर्दरू्िमय सिमया अमिाकां  रे्दशमय प्रिुखा सिमया अस्मि। प्रर्दरू्िि   अिुठर्दिां विषिे। 
िेि जिााः पवपवि ाः रोग ाः आक्रातिााः भवस्ति। यठर्द जिााः एिस्मिि   पवर्ये जागरूकााः 
भपवष्यस्ति िठहष प्रर्दरू्ि-सिमयायााः सिािािां भपवष्यनि। वािावरिां शुद्धि   अपप 
भपवष्यनि।  

(1+1=2) 

 
टी-चाटष  

कारिि   प्रभावाः  

(i)  
 

(ii) जिााः यठर्द जागरूकााः भपवष्यस्ति। 

(i) जिााः पवपवि ाः रोग ाः आक्रातिााः 
भवस्ति। 

(ii)  

 

 
 

 (IV) अिोनलस्खिां गद्ाांशां पठित्वा वेिारेखिाध्यिेि एकाः भेर्दाः (अतिराः) एका सिाििा 
च नलखि। 
एकस्मिि   विे एकाः िगृाः एकाः गजाः च वसिाः। उभौ निते्र मिाः। ित्र एकाः व्याघ्राः 
आगच्छनि। व्याघ्रां दृष््वा उभौ िाविाः। िगृाः िीव्रां िावनि परति ु गजाः शि ाः शि ाः 
चलनि।  सिीपे एकाां िर्दीां दृष््वा गजाः िद्ााः जले प्रपवशनि। व्याघ्राः इिमििाः पररभ्रम्य 
अतयत्र गच्छनि। 
 

(1+1+1=3) 

 खण्: - 'ख' रचिात्िक-कायषि   (15)  
2. अिोनलस्खिां प्राचाय ंप्रनि अवकाशाथषि   आवेर्दिपत्रां पठित्वा िञ्जूर्ायााः सहायिया पूि ं

कृत्वा आवेर्दिपत्रि   उत्तर-पुस्मिकायाां नलखि।  
सेवायाि  , 
(i)_____प्रिािाचायाष: 
्ी. ए. वी. पवद्ालयाः 
ठर्दल्ली-िगरि   
 

िहोर्दयााः, 
सपवियां(ii) _______ यि   गि     राते्राः अहां (iii) _______ ग्रमिाः अस्मि। अमिाि   
कारिाि   अहां (iv)_______ आगतिुि   असिथष: अस्मि। अि: ठर्दिद्वयमय 

(v)_______ र्दत्वा िाि   अिुगहृ्णतिु। 
ितयवार्दााः 

भविाि   नशष्याः 
रिेशाः 

कक्षा-सप्तिी 

(1x5=5) 

सिाििा 
(i) 

 

िञ्जूर्ा 
पवद्ालयि  , ज्वरेि, िातया:, निवेर्दयानि, अवकाशि    
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3. नचत्रां दृष््वा िञ्जूर्ािाः शब्र्दाि   नचत्वा ररक्तमथािानि पूरयतिु- 

क) नचते्र बालकौ ______ क्री्िाः। 
ख) अत्र बानलका ______ उपपवशनि। 
ग) बालकाः _______ पिनि। 
घ) _____ अिाः बानलका नचत्रनििाषिां करोनि। 
ङ) बालकाः वकृ्षमय _______ उपपवशनि। 

(1x5=5) 

 अथवा 
िञ्जूर्ािाः उनचिां शब्र्दां नचत्वा ‘प्रर्दरू्िि  ’ इनि पवर्ये अिुच्छेर्दां पूरयि।  
अिुिा सम्पूिे भारिरे्दशे i) _______ एका गभीरा सिमया विषिे। प्रर्दरू्िमय ii) 
________ प्रकारााः सस्ति। जलप्रर्दरू्िि  , वायुप्रर्दरू्िि   iii) _______ च। जिााः iv) 
______ि ुि कुवषस्ति परतिु वकृ्षािाां छेर्दिि    अवश्यिेव कुवषस्ति। v) _______ नििाषिां 
िीव्रगत्या भवनि, वाहिािाां सङ्ख्या अपप प्रनिठर्दिां विषिे एव। वयि   एिमयााः 
सिमयायााः सिािािां निनलत्वा एव कुयाषि।  
 
 

 

4. अिोनलस्खिानि वाक्यानि सांमकृिभार्या अिुवार्दां कृत्वा नलखि।   
i) बालक फल खािा ह । 
ii) िैं खेल रे्दखिा हूूँ। 
iii) उसिे पत्र नलखा। 
iv) वह पुमिक पढेगा। 
v) िुि सब कहाूँ जाओग?े  

(1x5=5) 

 खण्: -'ग' अिुप्रयुक्त-व्याकरिि   (25)  
5. अिोनलस्खिवाक्येर्ु रेखास्ङ्खकिपर्दािाां सस्तिपर्दां सस्तिच्छेर्दपर्दां वा प्रर्दत्तपवकल्पेभ्य: नचत्वा 

नलखि।  
क) बालकमय िाि िहेशाः अस्मि। 

i) िहे+शाः        ii) िहा+ईशाः           iii) िहा+इशाः  
ख) छात्रा पििाय पुमिक+आलयां गच्छनि। 

i) पुमिकलयां      ii) पमूिकालयां          iii) पुमिकालयां 
ग) आकाश ेचतरोर्दयाः भवनि। 

i) चतर+उर्दयाः     ii) चतर+ऊर्दयाः   iii) चतरो+र्दयाः 

(1×3=3) 
 

िञ्जूर्ा- 
पुमिकां , 
शाखायाि  , 
र्दोलायाि  , 
वकृ्षमय, 
कतर्दकेुि 

िञ्जूर्ा – यतत्रालयािाां, वकृ्षारोपिां, प्रर्दरू्िि  , ध्वनिप्रर्दरू्िि  , त्रयाः  
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6. प्रर्दते्तभ्याः पवकल्पेभ्याः सिुनचिां शब्र्दरूपां नचत्वा वाक्येर्ु ररक्तमथािानि पूरयि।  
क) पवषिेर्ु ______ िपमयाां कुवषस्ति। 

i) िुनिाः         ii) िुिी       iii) िुियाः 
ख) बाला ______ जलि   आियनि। 

i) िद्ााः         ii) िद्        iii) िद्ाः 
ग) नशष्याः _______ फलानि आियनि। 

i) सािुिा        ii) सािवे          iii) सािोाः 

(1×3=3) 
 

7. प्रर्दते्तभ्याः पवकल्पेभ्याः ररक्तमथािािाां कृिे उनचि-िािुरूपास्ि नचत्वा नलखि। 
क) त्वां जलां ______। 

i) पपब          ii) पपबतिु      iii) पपबि 
ख) अिुिा वयां जतिुशालाां _______। 

i) गनिष्यानि    ii) गनिष्यावाः      iii) गनिष्यािाः  
ग) छात्रााः पवद्ालयि   ________। 

i) अगच्छि        ii) अगच्छिाि        iii) अगच्छि   

(1×3=3) 
 

8. रेखास्ङ्खकिपरे्दर्ु उपसग ंसांयोज्य पवभज्य वा शुद्धि   उत्तरां पवकल्पेभ्याः नचत्वा नलखि। 
क) आचायषाः नशष्याि   निर +ठर्दशनि। 

i) निरठर्दशनि    ii) निठर्दषशनि      iii) निरे्दशनि 
ख) कतर्दकुां  दृष््वा बालाः प्रसीर्दनि। 

i) प्र+सीर्दनि     ii) प्र+नसर्दनि      iii) प्रसी+र्दनि 
ग) रािाः पवषिाि   अवरोहनि। 

i) अ+वरोहनि     ii) अव+रोहनि     iii) अवरो+हनि 
घ) चटकााः आकाशे पव+चरस्ति।  

i) पवचरस्ति      ii) पवचरनि       iii) पवचरतिु 

(1×4=4) 

9. अिोनलस्खिवाक्येर्ु सिुनचिि    अव्ययपर्दां नचत्वा नलखि। 
(क) कच्छप: ______ चलनि। 

i) शि ाः शि ाः         ii) भूयो भूयाः     iii) यर्दा कर्दा 
(ख) _____ वयां सवे उपविि   अगच्छाि।  

i) अद्              ii) श्वाः          iii) ह्याः 
(ग) बालाः ______ स्जज्ासुाः आसीि  । 

i) परतिु            ii) अिीव        iii) कुत्र  
(घ) पुते्रि सह पपिा _______ आपिां गच्छनि। 
      i) यत्र              ii) यठर्द          iii) अपप 

(1×4=4) 
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10. प्रकृनि-प्रत्ययौ सांयोज्य पवभज्य वा शुद्धि   उत्तरां नचत्वा ररक्तमथािानि पूरयि। 
क) श्यािाः पुष्पां ______(दृष््वा) प्रसतिाः भवनि। 

i) दृर्  +क्त्वा       ii) दृश  +क्त्वा       iii) दृस  +क्त्वा 
ख) नशष्याः ______(उि  +मथा+ल्यप  ) आचाय ंििनि। 

i) उत्मथाय         ii) उिमथाय       iii) उत्थाय  
ग) बालाः ______(पठ्+क्त्वा) खेलिाय गच्छनि।  

i) पिीत्वा        ii) पठित्वा         iii) पठिक्त्वा 
घ) सा पािां ______(पवमितृ्य) र्दाुःखी भवनि। 

i) पव+मि+ृल्यप     ii) पव+मििृ  +ल्यप     iii) पवस  +ि+ृल्यप   

(1x4=4) 

11. प्रर्दत्तपवकल्पेभ्याः ररक्तमथािािाां कृिे उनचि-पवभपक्तयुक्तपर्दानि नचत्वा नलखि।  
क) ______ द्वौ पुत्रौ आमिाि  । 

i) रािेि        ii) रािाय           iii) रािमय  
ख) छात्रााः ______ पवद्ालयां गच्छस्ति। 

i) पििमय       ii) पििाय         iii) पििाि   
ग) बालााः _______ क्री्स्ति। 

i) कतर्दकेुि       ii) कतर्दकुाय       iii) कतर्दकुमय 
घ) ______ त्वि    वर्द। 

i) हे बालक!      ii) बालकमय       iii) बालकि     

(1x4=4) 

 खण्:- 'घ' पठिि-अवबोििि   (25)  

12. अिोनलस्खिां गद्ाांशां पठित्वा प्रश्नािाि   उत्तरास्ि नलखि। 
स: बालाः पवचारिग्िाः अभवि  । साः अनचतियि  - यठर्द भूयो भूयाः घटमथापिेि 
पार्ािनशलायाां गिषाः अभवि   िर्दा ठकां  पुिाः पुिाः पििेि िि िनिाः िीव्रा ि भपवष्यनि? 
इनि पवचायष साः पवद्ाभ्यासे सांलग्िाः अभवि  । साः पुिाः पुिाः पािाि   अपिि  । पुिाः पुिाः 
लेखिमय अपप अभ्यासि   अकरोि  । शि ाः शि ाः साः बुपद्धिाि   अभवि  । साः परीक्षायाां 
पवनशष्टां मथािां प्राप्तवाि  । 

 

 I. प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि। 
क) 'शि : शि : स: बुपद्धिाि    अभवि   ' - अत्र अव्ययपर्दां ठकि   अस्मि? 

i) साः         ii) बुपद्धिाि             iii) शि : शि :  
ख) ‘बुपद्धाः’ इत्यमय ठकां  पयाषयपर्दां गद्ाांशे अस्मि? 

i) पवचायष      ii) िनिाः            iii) अभ्यासां 

(1x2=2) 

 II. एकपरे्दि उत्तरि।  
क) काः पवचारिग्िाः अभवि  ? 
ख) बालाः पुिाः पुिाः काि   अपिि  ? 

(½x2=1) 
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 III. पूिषवाक्येि उत्तरि।  
क) बालाः परीक्षायाां कीदृशां मथािां प्राप्तवाि  ? 
ख) बालाः ठकि   अनचतियि  ? 

(1x2=2) 

13. अिोनलस्खिां श्लोकि   आितृ्य प्रश्नािाि   उत्तरास्ि नलखि। 
     को भाराः सिथाषिाां, ठकां  र्दरूां व्यवसानयिाि  । 
     को पवरे्दशाः सपवद्ािाां, काः पराः पप्रयवाठर्दिाि  ।। 

 

 I. प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि। 
क) ‘पप्रयवाठर्दिाि  ’- इनि परे्द का पवभपक्ताः? 

i) पञ्चिी         ii) र्ष्ठी          iii) सप्तिी 
ख) ‘सिीपि  ’- इत्यमय ठकां  पवलोिपर्दां श्लोके अस्मि? 

i) पराः            ii) भाराः        iii) र्दरूां 

(1x2=2) 
 

 II. एकपरे्दि उत्तरि।  
क) केर्ाां कृिे कोऽपप पराः ि भवनि? 
ख) सिथाषिाां कृिे ठकिपप काय ंठकां  ि भवनि? 

(½x2=1) 

 III. पूिषवाक्येि उत्तरि।  
क) व्यवसानयिाां कृिे ठकिपप मथािां ठकां  ि भवनि? 
ख) केर्ाां कृिे ठकिपप मथािां पवरे्दशिुल्यां ि भवनि? 

(1x2=2) 
 

14. अिोनलस्खिां िा्याांशां पठित्वा प्रश्नािाि   उत्तरास्ि नलखि।  
(सप्तिकक्षायााः सवे छात्रााः अध्यापपकया सह ििोरञ्जिाय ‘एकि   उद्ािि   ’ गच्छस्ति। 
भोजि-काल ेछात्रााः एकपत्रिााः भवस्ति। िे भोजिपवर्ये परमपरां वािाषलापां कुवषस्ति।) 
अध्यापपका - भो छात्रााः! युष्िानभ: क्री्िां सम्यक   कृिि    ि वा?  
छात्रा:     - (अनि उत्साहेि) कृिि    आचाये! सम्यक   कृिि   ।  
अध्यापपका – िठहष आगच्छि। अिुिा निनलत्वा वयां सव ेभोजिां कररष्यािाः। र्दशषयतिु   
            ठकां  ठकि   अस्मि भविाां भोजिे?   
(सवे छात्रााः मवभोजिां र्दशषयस्ति, परां कमयापप सिीपे रोठटका शाकि   वा ि आसीि  ।) 

 

 I. प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि।  
क) ‘अध्यापपकया’- इनि परे्द का पवभपक्त:? 

i) ठद्विीया           ii) ििृीया      iii) चिुथी 
ख) ‘र्दशषयतिु’- इनि परे्द काः लकाराः? 

i) लटृ्              ii) लङ्        iii) लोट् 

(1x2=2) 
 

 II. एकपरे्दि उत्तरि।  
क) छात्रााः कस्मिि   पवर्ये परमपरां वािाषलापां कुवषस्ति? 
ख) कया सह छात्रााः उद्ािां गच्छस्ति? 

(½x2=1) 
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 III. पूिषवाक्येि उत्तरि।  
क) छात्रािाां भोजिे ठकां  ि आसीि  ? 
ख) छात्रााः ठकिथषि    उद्ािां गच्छस्ति? 

(1x2=2) 

15. निम्िनलस्खिां श्लोकां  पठित्वा िञ्जूर्ाि: उनचि-पर्द ाः अतवयां पूरयि।  
       पवद्ा पववार्दाय ििां िर्दाय शपक्ताः परेर्ाां पररपी्िाय।  
       खलमय सािोपवषपरीििेिि   ज्ािाय र्दािाय च रक्षिाय।। 
अतवयाः – i) _____ पवद्ा पववार्दाय, ii) ____ िर्दाय, शपक्ताः परेर्ाां iii) _____। सािोाः 
एिि   iv) ______ ज्ािाय v) ______ रक्षिाय च vi) ________। 
 
 
 

(½x6=3) 

16. श्लोकां  पठित्वा िञ्जूर्ाि: उनचि-पर्द ाः भावाथ ंपूरयि।   
अयां निजाः परो वेनि गििा लघुचेिसाि  । 
उर्दारचररिािाां िु वसुि व कुटुम्बकि  ।। 

भावाथषाः – अयां i)____ अस्मि अयि   च अपरमय अस्मि इनि ii)_____िािवााः 
नचतियस्ति, परतिु iii) ______ िािवािाां कृिे िु iv)_______ एव मवपररवारमय 
िुल्याः भवनि। 
 
 

(½x4=2) 

17. अिोनलस्खिानि वाक्यानि कथाक्रिािुसारेि पुिाः नलखि। 
क) भीिााः पशवाः गुहासु वसस्ति मि।  
ख) पशूिाि   सङ्ख्या तयूििरा अभवि  । 
ग) नसांहाः प्रनिठर्दिां पशूि   िारयनि मि। 
घ) एकाः बलवाि   नसांहाः विमय राजा आसीि  । 

(½x4=2) 

18. मथलूपर्दि   आितृ्य प्रर्दत्तपवकल्पेभ्याः उनचिां प्रश्नवाचकां  पर्दां नचत्वा प्रश्ननििाषिां कुरुि- 
क) घटमथापिेि पार्ािनशलायाां गिषाः अभवि  । 

i) कमय          ii) कुत्र           iii) केि  

ख) पशूिाि   सङ्ख्या तयूििरा अभवि  । 

i) केर्ाि           ii) कमयाां         iii) कमय 

ग) वकृ्षााः वर्ाषय  सहायकााः भवस्ति। 

i) कमयााः         ii) कमय          iii) कााः 

(1x3=3) 

िञ्जूर्ा- पवपरीिि  , पररपी्िाय, खलमय, र्दािाय, ििां,  भवनि  

िञ्जूर्ा-  उत्तिािाां,   सम्पूिषसांसाराः,   िि,    निम्िश्रणेयााः   
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************** 

 खण्ाः - 'ङ’ साठहत्यां व्याकरिञ्च (05)  

19. प्रश्नाि   पठित्वा अिोनलस्खि-पवकल्पेर्ु शुद्धि   उत्तरां नचत्वा नलखि। 
I. अनभकथिि   - वकृ्षाि   पार्दपााः इनि कथ्यतिे। 
   िकष ाः – वकृ्षााः पार्द ाः पपबस्ति। 

क) अनभकथिां शुद्धां, िकष ाः अशुद्धाः। 
ख) अनभकथिि    अशुद्धां, िकष ाः शुद्धाः। 
ग) उभौ शुद्धौ।  
घ) उभौ अशुद्धौ। 

(1x2=2) 

 II. अनभकथिि   – ‘त्वां गहृां गच्छ।’- अत्र‘गच्छ’इनि ठक्रयापर्दां लोट् -लकारे अस्मि।  
   िकष ाः  - आज्ाथे प्राथषिायाां च लोट् -लकारमय प्रयोग: ि भवनि।  

क) अनभकथिां शुद्धां, िकष ाः अशुद्धाः। 
ख) अनभकथिि    अशुद्धां, िकष ाः शुद्धाः। 
ग) उभौ शुद्धौ।  
घ) उभौ अशुद्धौ। 

 

20. उनचिां सम्बतियुक्तपर्दां नचत्वा नलखि।  
क) ित्ते      :     िारयनि      : :        सपवद्ािाि       :     ? 
 i) पवर्दरु्ाि          ii) पवद्वाि        iii) उर्दारचररिािाि   
ख) आिारााः   :     वकृ्षााः        : :      ?     :      वािावरिि    
 i) प्रसिृाि          ii) मवच्छां      iii) उपकारकााः 
ग) काष्ठ ाः     :      क ाः         : :     छायया     :    ? 
 i) कया          ii)  कमयााः     iii)   कमय  

(1x3=3) 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VII                                           Maximum Marks: 80 

Subject: Science                                            Time: 3 Hours 

General Instructions:  

1. This Question paper consists of total 6 pages. 

2. There are 30 questions in the question paper. All questions are compulsory.  

3. There is no overall choice. However internal choices have been provided in 3 questions of 3 marks  

    category and 3 questions of 5 marks category.  

4. Question 1 to question 10 are very short answer type. 

5. Question 11 and 12 are Assertion- Reason type questions whereas question 13 and 14 are 

     paragraph-based questions.  

6. Question 15 to question 24 are short answer type and carry 3 marks each.  

7. Question 25 to question 30 are long answer type questions and carry 5 marks each.  

 

1. A cold spoon is dipped in a cup of hot milk. Heat is transferred to its other end by the 

process of ______________ . 

(1) 

2.  Complete the following food chain                                                                      

        Grass  → …………  →  Frog→……………. 

(1) 

3.  The distance between the object and its image, in a plane mirror is 8 m. If the object 

moves 2 m towards the mirror, then the new distance between the object and its image 

will be- 

a) 4 m               b) 6 m              c) 8 m           d) 10 m 

(1) 

4.  The S.I. unit of speed is- 

a) m/min          b) m/sec           c) km/hr        d) km/min 

(1) 

5.  Neha’s mother made concentrated sugar syrup by dissolving sugar in hot water. On 

cooling, crystals of sugar got separated. This indicates making sugar syrup is a- 

a) Physical change that can be reversed 

b) Chemical change that can be reversed 

c) Physical change that cannot be reversed 

d) Chemical change that cannot be reversed 

(1) 

6.  Read the following statements with reference to soil: 

(i) weathering is a very fast process of soil formation. 

(ii) percolation of water is faster in sandy soils. 

(iii) sandy soil contains the maximum amount of humus. 

(iv) top soil contains the maximum amount of humus. 

Choose the correct statements from the above and identify the correct option. 

a) (ii) and (iv)           b) (i) and (iii)             c) (ii) and (iii)                 d) (i) and (ii) 

(1) 

7.  “Waste water” is also called- 

a) potable water   b) sewage    c) ground water    d) salty water 

(1) 

8.  Tiny pores present on the surface of leaves through which gaseous exchange takes place 

are called – 

a) stomata             b) guard cell                 c) food holes               d) lenticels 

(1) 

9.  Spirogyra reproduces asexually by- 

a) Budding       b) Spore formation         c) Vegetative reproduction     d) Fragmentation 

(1) 
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10.  The plant layer found just below the canopy                               

   a) Crown       b) Emergent layer          c) Understory                               d) Forest Floor 

(1) 

11. In the following question, the Assertion (A) and Reason (R) have been put forward. Read 

both the statements carefully and choose the correct alternative from the following: 

Assertion(A): Chemical formula of Aluminium sulphate is Al2(SO4)3 

Reason(R): Symbols of aluminium and sulphate ions along with their charges are Al3+ 

and (SO4)
2- respectively. 

a) A and R both are correct and R is the correct explanation of A 

b) A is correct and R is wrong 

c) A is wrong and R is correct 

d) Both A and R are wrong 

(1) 

12. In the following question, the Assertion and Reason have been put forward. Read both 

the statements carefully and choose the correct alternative from the following: 

Assertion- The salivary glands secrete saliva into buccal cavity. 

Reason- The saliva does not break down the starch into sugar. 

a) Assertion and reason both are correct statement and reason is correct explanation for        

    assertion. 

b) Assertion and reason both are correct statement and reason is not correct explanation     

    for assertion. 

c) Assertion is correct statement but reason is wrong statement. 

d) Assertion is wrong statement but reason is correct statement. 

(1) 

13.  Read the given passage and choose the correct option for given questions. 

Heat flows from a hotter object to a cooler object until both objects reach the same 

temperature. There are three ways of transfer of heat- conduction, convection and 

radiation. Conduction is a process by which heat is transferred from hotter to cooler end of 

a solid object. In fluids, heat is transferred by convection. In radiation, no medium is 

required for transfer of heat. 

i) Convection may occur through: 

   (a) Solids and liquids                          (b) Liquids and gases 

   (c) Only solids                                    (d) Solids and gases 

ii) Heat from the Sun reaches us by the method of- 

    (a) Conduction                                  (b) Radiation  

    (c) Convection                                  (d) None of these 

iii) Sea breeze and land breeze occur due to the following mode of transfer of heat- 

    (a) Conduction                                 (b) Radiation  

    (c) Convection                                (d) Both conduction and convection 

iv) An iron rod becomes hot at one end if the other end is kept on fire. It is due to- 

 (a) Conduction                                   (b) Convection 

 (c) Radiation                                     (d) Both radiation and convection 

(4) 

14.  Read the following passage and answer any four questions from (i) to (v).  

Water scarcity limits access to safe water for drinking and for maintaining basic hygiene at 

home, in schools and in health-care centres. When water is scarce, sewerage systems may 

fail and the threat of contracting diseases like cholera surges. Safe water also becomes more 

expensive due to water scarcity. 

Sometimes, water scarcity takes a greater toll on women and children because they are the 

ones responsible for collecting it in the villages of Rajasthan and Gujarat. When water is 

further away, it requires more time to collect, which often means less time is available for 

school.  

(4) 
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As the factors driving water scarcity are complex and vary widely across countries and 

regions, UNICEF works at multiple levels to introduce context-specific technologies that 

increase access to safe water and address the impacts of water scarcity.  

i) Which of the following is not a consequence of water scarcity?  

a) Decreased crop production.                      b) Occurrence of water-borne diseases. 

c) Drought                                                    d) Greenhouse effect 

ii) __________________ is the technique of watering plants by making use of narrow 

tubes which deliver water directly at the base of the plant.  

a) Terrace farming                                             b) Crop production 

c) Drip irrigation                                               d) Contour farming 

iii) Which of the following is the cause of depletion of water table? 

a) Increasing population                                   b) Agricultural activities 

c) Increasing industries                                    d) All of these 

iv) Water on the earth has been maintained due to - 

a) groundwater                                                 b) oceans 

c) rivers                                                            d) water cycle 

v) The upper limit of the layer of the earth in which water is found is called -  

a) infiltration                                                    b) aquifer 

c) water table                                                   d) groundwater 

15. a) Cite appropriate reason for the following 

statements:  

i) Shopkeepers selling ice blocks usually cover them 

with jute sacks.  

ii) The radiators in cars are painted black. 

b) A laboratory thermometer A is kept 7 cm away on 

the side of the flame while a similar thermometer B is 

kept 7 cm above the flame of a candle as shown in figure. Which of the thermometers A or 

B will show a greater rise in temperature? Give reason for your answer:  

OR 

a) In the arrangements A and B as shown in figure, pins P and Q are fixed to  

   a metal loop and an iron rod with the help of wax. In arrangement A, point P  

  and point Q are equidistant from the point of heating by the candles. 

 

 

 

 

 

 

In which case, (A) or (B), is both the pins likely to fall at different times? Justify your 

answer. 

b) A child was observing the process of ironing clothes. He was surprised to see  

    that, the base of the iron was very hot, the clothes were warm; however, the top  

    handle of the iron was not warm.  

    Explain his observations with appropriate reason.  

(3) 

16. a) Write any two points of difference between real image and virtual image.  

b) A shopkeeper wanted to fix a mirror which will cover the maximum view of his shop.   

    What type of mirror should he use and why? 

(3) 
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17. a) A student plans to visit his grandmother during 

a vacation in his father’s motorcycle.  

 Before starting the trip, the student took a picture 

of the odometer marked as initial in the image. 

After reaching his grandmother’s place he took 

another picture of the odometer marked as final. 

What is the distance between the student and his 

grandmother’s house? 

b) A student was watching the swing of a pendulum as shown in the 

image. She noticed that the bob of the pendulum moved from 

position A to C and then back to A in 2 seconds. 

 What is the time period of the pendulum? 

c) If a car travels 216 kilometres in 4 hours, calculate its speed. 

(3) 

18. When an object made of material P is kept immersed in the blue-coloured solution Q, then 

a chemical change takes place to form a green-coloured solution R and a brown layer of 

substance S is deposited on the object. P is used for making steel and S is used for making 

electric wires.  

a) What could the material P be?  

b) Name the blue-coloured solution Q.  

c) Name the green-coloured solution R.  

d) What could the substance S be?  

e) Write suitable chemical equation for the above reaction.   

f) Name the type of reaction mentioned above.  

(3) 

19. “The type of crop that may be grown in a particular field depends on the type of soil.” 

Justify the statement giving any three suitable examples. 

(3) 

20. a) What is ‘sewage system’? 

b) Mention any two ways of conservation of water. 

OR 

a) “Planting trees prevents depletion of water table” – Justify with reasons.  

b) How can we play an active role in waste water management and in better  

    functioning of sewerage system? (Write any two points).  

(3) 

 

 

 

 

21. a) Nitrogen is an essential nutrient for plant’s growth but 

farmers who cultivate legumes (like green and black grams) do 

not apply nitrogenous fertilizers during cultivation. Why? 

b) Mention the organism associated with this phenomenon.  

  

(3) 

22. Draw a neat diagram of an Amoeba and label the parts responsible for the functions given 

below.    

a) Helps amoeba to capture food.       b)  Region where digestion of food takes place. 

 

OR 

 

(3) 

Initial reading in km Final reading in km 
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Observe the given diagram carefully to answer the 

following questions: 

a) Name the kind of stomach present in the given diagram? 

b) Ruminants such as cows and buffaloes swallow their 

food hurriedly and then sit restfully and chew their food. 

Justify the statement. 

23. Answer the following questions based on the image given : 

a) Specify with reason, which mode of reproduction is shown here?  

b) How does it differ from the mode of reproduction in sunflower      

    plant?  Explain briefly. 

(3) 

24. a) Identify the layers shown as A and B from the given    

    rain forest picture.                                                                                 

b) State the special features of layer A and layer B in the  

    forest.  

(3) 

25.  a) Draw a suitable ray diagram to show the formation of image of an object placed in  

     between the centre of curvature and the focus of a concave mirror. 

     Also state the nature and position of image formed. 

b) If focal length of a convex mirror is 15cm, find out its radius of curvature. 

 c) What type of mirror is used in ‘kaleidoscope’? 

OR 

a) Which type of mirror is used in ophthalmoscope and  

      why? 

b) State another use of such mirror. 

c) Calculate the angle of incidence and angle of  

    reflection for the given diagram. 
 

(5) 

 

 

26. a) Starting from A, Paheli moves along a rectangular  

    path ABCD as shown in figure.  

   She takes 2 min to travel each side. Plot a distance-     

time graph and explain whether the motion is uniform or 

non-uniform. 

 

b) The following distance-time graph of three objects (D, E 

and F) are given (see figure given alongside). Comment on 

the motion of the three objects. 

 

 

(5) 

27. a) Balance the following chemical equations: 

i) CH4 + O2                           CO2 + H2O 

ii) Fe2O3 + C(s)                     Fe(s) + CO(g) 

b) Identify the type of reactions given in the following chemical equations: (Give  

   appropriate reason for your answer). 

i) CuCl2 + Pb                    PbCl2 + Cu 

ii) Ba (OH)2 + HNO3                        Ba (NO3)2 + H2O 

 

(5) 

A 

B 
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c) Determine if the following changes are physical or chemical. 

i) Breaking of  glass                          ii) Baking a cake 

OR 

a) The gas we use in the kitchen is called Liquefied Petroleum gas (LPG). In the  

   cylinder, it exists as a liquid. When it comes out from the cylinder it becomes a gas 

(Change – X), then it burns (Change – Y). Identify the type of change (as physical or 

chemical) shown as X and Y. 

b) i) Write the balanced chemical equation of the reaction between magnesium hydroxide  

      and sulphuric acid? 

   ii) Name this type of reaction.  

c) Study the following chemical formulae carefully and write the chemical names  

   of the compound. 

   i) AlCl3                                              ii) Ca3(PO4)2 

28.  a) What is soil profile? 

b) Identify different horizons of soil profile in the given 

diagram. 

c) What is percolation rate and infiltration rate? 

 

 

 

 

(5) 

29. a) Following statements describe the five steps in animal nutrition. Read each   

   statement and give one word for the same.    

    i) Transportation of absorbed food to different parts of body and their utilization. 

   ii) Breaking of complex food substances into simpler and soluble substances. 

   iii) Removal of undigested food from the body. 

   iv) Taking food into the body. 

    v) Movement of digested and soluble food from the intestine to blood vessels.  

b) Draw a muscular organ present in buccal cavity of human beings. Label it’s any three  

     taste buds.  

(5) 

30. a) Identify any four labeled parts from A, B, C, D, E                                                     

b) Write down changes observed in the flower post fertilisation. 

c) Compare the self and cross pollination with suitable  

    examples. 

 

OR 

 

Observe the given figure and answer the following questions: 

a) Which type of vegetative propagation has been 

shown in this figure? 

b) Name two plants where this method of vegetative 

reproduction takes place. 

c) Is this a sexual or asexual mode of reproduction? 

d) Label the parts (A) and (B) in the given figure. 

(5) 

 

******************************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VII                                                    Maximum Marks: 80 

Subject: Social Science                                                             Time: 3 Hours 
General Instructions:- 

1. This Question Paper contains 36 questions in all. All questions are compulsory.  

2. Marks are indicated against each question.  

3. Question 1-20 are very short answer type questions of 1 mark each.  

4. Questions from 21-28 are 3 marks questions.  

5. Questions 29-34 are 5 marks questions.  

6. Question no. 35 and 36 are map questions of Geography and History. Maps should be attached 

    with the answer sheet. 

1. Name the sphere of the environment which is composed of a mixture of gases and forms 

an envelope around the earth. 

(1) 

2. In the question given below, there are two statements marked as Assertion (A) and Reason 

(R). 

Read the statements carefully and choose the correct option. 

Assertion (A): Troposphere is the densest layer of the atmosphere. It contains water 

vapour and dust particles. 

Reason (R): All weather changes continuously take place in the first layer of the 

atmosphere. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

(1) 

3. Rewrite the following statement correctly. 

Human beings and animals release carbon dioxide during the process of Photosynthesis. 

(1) 

4. Match Column I with Column II and choose the correct answer from the options below. 

Column I Column II 

a. A special form of oxygen (i) stratosphere 

b. calm and clear air (ii) ozone 

c. global warming (iii) photosynthesis 

d. plant  (iv) CO2 

Options are –  

A) a-ii, b-iii, c-iv, d-i                                                     B) a-iii, b-i, c-iv, d-ii  

C) a-i, b-ii, c-iv, d-iii                                                     D) a-ii, b-i, c-iv, d-iii 

(1) 

5. List two technological changes associated with Medieval period. (½ + ½)  

6. In the question given below, there are two statements marked as Assertion (A) and Reason 

(R). 

Read the statements carefully and choose the correct option. 

Assertion (A): Manuscripts provide a lot of useful information to historians. 

Reason (R): The movement of people in search of opportunities resulted in exchange of 

ideas regarding agriculture, weaving, food etc. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

(1) 
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7. In 753 CE, the Rashtrakutas became the masters of a large area of the present Gujarat, 

Madhya Pradesh, Bihar, Maharashtra and Karnataka. Name the real founder of this great 

empire. 

(1) 

8. Mention the Universities which became important centres of higher education in North 

India during the medieval period. 

(1) 

9. Match Column I with Column II and choose the correct answer from the options below. 

Column I Column II 

a) Turks i) lineage of rulers 

b) Ghaznavis ii) professional soldiers 

c) Invaded India 17 times iii) Qutubuddin Aibek 

d) Trusted slave iv) Mahmud Ghazni 

Options are –  

I. a-i, b-ii, c-iii, d-iv                                                              II. a-iv, b-iii, c-i, d-ii  

III. a-ii, b-i, c-iv, d-iii                                                           IV. a-i, b-iii, c-ii, d-iv  

(1) 

10. Write True or False. If the statement is false, write it correctly. 

Muhammad Ghori wanted to make Ghazni, a large hilly and poor region, into a powerful 

empire. 

(1) 

11. Name the two places occupied by Muhammad Ghori after defeating Rajputs. (1) 

12. Rewrite the following statement correctly. 

Mahmud Ghazni’s main aim of invading India was to establish an Islamic empire in India. 

(1) 

13. a) Identify this monument. 

b) Mention the ruler who constructed this monument. 

 

(1) 

14. Mention any one positive effect of Mid-Day Meal scheme. (1) 

15. To ensure that all the children from the deprived sections are able to fulfil their dreams,  

 the Government of India should not-  

  (a) give them free food and clothing,  

  (b) give them monthly stipend/monetary help.  

  (c) provide free education.   

  (d) leave them to fight for themselves and become self-dependent. 

(1) 

16. Identify the wrong statement about the provisions of Right to Equality. 

A.  All citizens are equal before the law. 

B. Discrimination on the basis of religion, caste, gender or place of birth is permitted. 

C. Everyone is entitled to equal opportunities in all walks of life. 

D. The law gives equal protection to all. 

(1) 

17. Define Media. (1) 

18. Write True or False. If the statement is false, write it correctly. 

The Right to Education Act was passed in 2005. 

(1) 



3 
 

19. In the question given below, there are two statements marked as Assertion (A) and Reason 

(R). 

Read the statements carefully and choose the correct option. 

Assertion (A): The Chinese are credited with the invention of the first printing machine 

with a type of mould. 

Reason (R): Gutenberg brought out the first printed Bible in the mid-fifteenth century. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

(1) 

20. Indian media is free. But sometimes, the government can ban the media from broadcasting 

or publishing certain items. State the reason. 

(1) 

21. Give reasons- 

(A) Sedimentary rocks are called Stratified rocks. 

(B) Igneous rocks are called Primary rocks. 

(1½+1½) 

22. ‘The interior of the earth has remained a mystery for years. We know little about it.’- State 

the reason and mention two things that help us to know about earth’s interior. 

(3) 

23. After Harsha’s death his whole empire disintegrated into many small kingdoms. Explain 

the reasons behind it. 

(3) 

24. State three measures that our government has adopted to improve the condition of the 

school children belonging to weaker sections. 

(3) 

25. Enlist any three functions of the Council of Ministers of a state. (3) 

26. Read the passage carefully and answer the questions given below- 

The earthquake is the shaking and trembling of the earth’s surface, caused by internal 

movement. The science of earthquake is known as seismology and the instrument which 

records earthquake waves is called seismograph. The most recent earthquake is the one 

which rocked Bhuj in Gujarat on 26th January 2001. Its tremours were felt over Indian 

subcontinent including India, Pakistan and Nepal. It measured 7.9 on the Richter Scale. 

About one lakh people lost their lives. Earthquakes are responsible for landslides in 

highlands which cause heavy loss of lives and property. Earthquakes occurring in sea result 

in high waves in the water and cause heavy damage to ships. 

i. Name the countries which felt the tremours of the earthquake occurred in Bhuj. 

ii. State one adverse effect of earthquake. 

iii. What was the magnitude of the Bhuj’s earthquake? 

(3) 

27. Read the passage carefully and answer the questions given below- 

The temples of the mighty Cholas of medieval period are regarded as the best architectural 

and sculptural marvels of that period. These were centres of craft production. Temples 

were also endowed with land by the rulers and others. The produce of this land went to 

maintain all the specialists who worked at the temples and very often lived near them. They 

included priests, garland makers, cooks, sweepers, musicians, dancers, etc. In other words, 

temples were not only the places of worship, but also the hub of economic, social and 

cultural life. Amongst the crafts associated with the temples, the making of bronze images 

was the most important. Chola bronze images are amongst the finest in the world. Most 

images were of deities, sometimes images were made of devotees too. 

i. Name any two rulers of the medieval Chola era. 

ii. Apart from the priests, mention two other occupations associated with the temples of  

    Cholas. 

(3) 
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iii. Highlight any one characteristic feature of the bronze sculptures of the Cholas with an  

     example.  

28. Read the passage carefully and answer the questions given below- 

India is a vast country. In terms of area, it ranks seventh in the world. Its total geographical 

area is 3.28 million sq. km. For better administration it is divided into 28 States and 8 

Union Territories. The responsibilities of the government have been divided into three 

levels. They are- Union government, State government and the government at the grass 

root level. The powers between Union and the State are divided on the basis of three lists 

i.e., the Union list, the State list and the Concurrent list. The State Legislature is the law-

making body which contains two houses. They are- the Legislative Assembly and the 

Legislative Council. The State Legislature makes laws for the state on the subjects 

mentioned in the State list and Concurrent list. It passes the annual budget of the state. It 

keeps a check on the Council of Ministers of the State. 

i. Mention the number of states and Union Territories in India. State the reason for its     

   division. 

ii. How are the powers divided between Union and State Governments?   

iii. Write any one function of the State Legislature. 

(3) 

29. ‘Human beings also play a crucial role in changing the face of the land’. Give two examples 

in support of this statement. Suggest three measures to conserve the soil. 

(2+3) 

30. State the significance of the Ozone gas. Why is global warming a threat to life on the earth? (2+3) 

31. Name the founder of Pandya kingdom. Mention two achievements of Rajaraja, the Great. 

Explain two points about the socio-economic condition of the people in the southern states. 

(1+2+2) 

32. i. ‘Balban was a strong and capable ruler’. Give two suitable arguments in favour of this     

    statement.  

ii. ‘Ala-ud-din is famous for his economic reforms’. Explain three market reforms made  

     by Ala-ud-din. 

(2+3) 

33. Explain any two powers of the Governor. Differentiate between Legislative Assembly and 

Legislative Council. (three points) 

(2+3) 

34. i. Illustrate the importance of Right to Information Act for a democratic country, like India. 

 (three points)  

ii. Mention the year, authority and reason for passing the ‘Gagging Act’. 

(3+2) 

35. On the outline map of the World, identify the following- (2+2) 

A. A National Park 

B. A National Park. 

Locate and label the following in the given  

map of the World- 

C. Gir National Park. 

D. Serengeti National Park. 

 

 

 
 

36.   On the political map of India, locate and label the following- 

A. The place where a fierce battle was fought between Babur and Ibrahim Lodi in  

    1526 CE 

B. The city where the Qutub Minar is located. 

(1+1) 

**************** 


